He is allergic to peanuts,
Answer:

Al

he cannot eat them.

She loves both cats
Answer:

dogs.

| want to go to the park
Answer:

play basketball.

He didn't study for the exam,
Answer:

he failed.

She likes to read books
Answer:

watch movies.

| don't like vegetables,
Answer:

| still eat them.

He went to the store,
Answer:

he forgot to buy milk.

She is tired,
Answer:

she wants to go to bed early.

We can go swimming,

Answer:

we have to be careful.

He is happy,
Answer:

he just won a prize.




He is allergic to peanuts,
Answer: so

She loves both cats
Answer: and

| want to go to the park
Answer: or

He didn't study for the exam,
Answer: so

She likes to read books
Answer: and

| don't like vegetables,
Answer: but

He went to the store,
Answer: but

She is tired,
Answer: so

We can go swimming,

Answer: but

He is happy,
Answer: because

Answers

he cannot eat them.

dogs.

play basketball.

he failed.

watch movies.

| still eat them.

he forgot to buy milk.

she wants to go to bed early.

we have to be careful.

he just won a prize.



